DP441HD - DROP PLATE INSTALLATION INSTRUCTIONS

GENERAL NOTES (ALL INSTALLATIONS)

1. Minimum 3” high door top rail is required to mount drop plate.

2. Position the drop plate on the door and the door closer’s parallel arm bracket on the door frame’s door stop soffit at the appropriate location for
the desired door opening angle.

3. Door closer mounting screws must finish flush with the back of the drop plate’s face so that the door surface is not damaged.

. The drop plate must be securely mounted on to the door using supplied or applicable mounting hardware. Wood screws require a minimum
solid wood thickness of 1-1/4”. Machine screws require a minimum door skin thickness of 1/8” or reinforcing material. Otherwise use through
bolts with sexnuts (not included).

5. Mount the door closer’s parallel bracket securely on to the door frame’s door stop soffit using 4 machine screws. For additional rigidity install
the 5th screw using the provided spacer (if required).
6. Complete door closer installation by refering to the installation instructions supplied with the door closer.
CONVERSION TABLES
NCH | & | 7 | & | T | | 18| 19| 145 13 B!
MM | 8 [ 131161721 24| 27| 30| 38
wen [ [13] 27[5% [5H]52]52 6261 e
MM. | 45| 44 75| 87| 94|140[149]159]170
12 5/16
INCH | 612| 81| 8% (875|385 94| 941 OR1 1%
M.M. |176|205210[217|1219|241248|275]286
STANDARD PARALLEL ARM INSTALLATION (PUSH SIDE)
NOTE: Parallel arm bracket and mounting hardware are supplied with door closer.
11 1
15 1%
1 1
116 176
|
DOOR
\ TR
o R T |
| N K
"N 5 -
114- 90° o
10 - 120° i " 16
7%- 180° IMPORTANT
USE SPACER BLOCK PROVIDED
FOR FIFTH SCREW. 1/2 or 5/8 in.
ﬂ h’
FanY FanY
Yo o 3 \ STOP
Ln—f)a o \ 3] FACE
— =7~ \—1f6 e 1 M L 4
$S5S R B 15
[~ —— boor 6
EDGE
# 14 Wood screws or
® | 6 % j I e [ 1/4 - 20 UNC machine screws
- - — 1 4|—'¥ —f
T (%w O 13 8} 13
15 R 2 4 2
675- 120
g 57 - 180° Screw-in valves for
g|E 1807 door opening LEFT HAND REVERSE DOOR SHOWN
2|y Door opens to outside. Right Hand Reverse is opposite.

DP441HD-18PA-INST 2019-01  1/2



DP441HD - DROP PLATE INSTALLATION INSTRUCTIONS

CUSHION STOP ARM INSTALLATION (PUSH SIDE) - with or without hold open feature

NOTE: Cushion stop arm is supplied separately. For arm installation, please refer to the Cushion stop arm installation instructions.

-
-
N

17

1 11

6 6
155
7 |
DOOR 116 5 qa %
| 16 16
sToP Jo o t ?
2-
Moe o, | / *8 3%
zmm ° | IMPORTANT
267 mm =% © USE SPACER BLOCK PROVIDED
238 mm =100° k FOR FIFTH SCREW. 1/2 or 5/8 in.
8 .
2133,/§m =110

— — —— — — NN — — — — — — — T — T T} )
) STOP
‘ FACE % J
| - 1!
| [~ ——poor 6
‘ EDGE < # 14 Wood screws or
8716 o 6 6 T in _ i
214 mm =85 L _9@ J—'x, » J 1/4 - 20 UNC machine screws
i 71 1 1 1
195 mm =90 12| 87 Iz
w 6916 ) o
S | 167mm =100 Screw-in v_alves for 180 LEFT HAND REVERSE DOOR SHOWN
Q [ 5916 door opening Door opens to outside. Right Hand Reverse is opposite
2lz |14t mm =110
=l
|o
=

EXTRA DUTY ARM INSTALLATION (PUSH SIDE) - for 110° or 180° door opening

NOTE: Extra duty arm (EDA) is supplied separately. For arm installation, please refer to the Extra duty arm installation instructions.

=N
-
N

-
-
N

16 16
1
176
|
L1
DOOR 11 T
‘ 16 16 |
|
STOP [} o4
N /' 13 X
lo! ‘
* 51
2 IMPORTANT
le———9%-UP TO 110° _—
64.110° TO 180° USE SPACER BLOCK PROVIDED
! FOR FIFTH SCREW. 1/2 or 5/8 in.
T ****** v — — — — — — T T T T T Ty ) Locate drop plate & shoe from centerline of
P ~ pivot or swing clear hinge.
| sToP P N 5!
| rs ) & o L___ [ _Ir\
16
"\DOOR }
\ EDGE | . # 14 Wood screws or
LS| e s &7 e 1/4 - 20 UNC machine screws
TK
- 1 1 1
<~ 64-UP TO 110° 12 83 12
~—3%-110° TO 180°—=| Screw-in valves for 180°
g door opening
ol & LEFT HAND REVERSE DOOR SHOWN
“g = Door opens to outside. Right Hand Reverse is opposite
E}"”K/

DP441HD-18PA-INST 2019-01 2/2



